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(English)

21. Combine the sentences using ‘If Clause’.
Walk fast. You will catch the bus.
(1) Ifyouwill walk fast, you will catch the bus.
(2) Ifyouwalk fast, you will catch the bus.
(3) Ifwalk fast, you will catch the bus.
(4) Ifyouwalk fast, you.catch the bus.

22. Find the word which is the méaning of the word ‘forgive’.
(1) punish ' (2) reward
(3) pardon | | ‘ (4), forget

23. Fill in the blank with the appropriate form of word given in the bracket.

Hermits are wise men. How they acquire their (wise) no one can tell.
(1) wisest | - (2)" wisdom
(3) wiseness. J (4) wiser

24.  Anilis in school. |
Frame a question to get the above answer. :
(1) WhatisAnil? ~ (2) WhoisAnil?

(3) Whereis Anil? - (4) HowisAnil? .
25. " Neena cannot decide , one to buy?

Fill in the blank with the correct question word.
(1) what ’ . (2) which
(3) where - (4) why

V2478 A 8% Class
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26.. Seema is looking for | . j.ob..
Fill in the blank with the correct article.
W e - @) a
‘(3) an o N . - (4) noneoftheabove

- Questlon No 27 to 30 Read the passage and answer the followmg

‘Mandali Vlllage is popularly known as ‘Moti Gaon’ (village of beads) 80% people of this
‘vﬂlage are involved in bead-related work. Women of this Vlllage make beautiful tassels, bracelets,

. strmgs earrings and wall hangings with beads. Farhana and her daughters earn between Rs. 500

to Rs. 700 a day by working in this industry. Akash, a hand1craﬁ artist makes decorative items
from beads using lace and jute. He earns close to Rs. 1000 per day. He wants to set up his own

manufacturing unit one day. But this business demands patience and practice with speed.

27. What is the meaning of Moti Gaon? : .
(1) Village of pots o (2) Village of beads

(3)" Village of baskets " (4) Village of jewellery
28 Most of the villagers are involved in ~___work.
() handicraftwork =~ (2) weaving carpets
" (3) beadrelated work (4) making baskets

~29. Who earns upto Rs. 1000 per day? ,
| (1) . Akash (2) Fathana
(3) . Farhana’ daughter (4)  All ofthe above

30. Which materials does Akash use to make decorative items from beads?
(1) stringsandbeads =~ - .- (2) sticks and ropes
(3) tasselsand puppets (4) laceandjute

V24-78) | 8-A ~ 8%Class



31.

Yes, the stag is free.

Question Paper A.

Booklet Code

Choose the correct questions to get the above answer.

(1) Is the stag free?
(3) Howisthestag? _ 4)

(2) Wasthe stag free?

What is the stag doing?_

32. To which of the following words can we add ‘in’ to make its opposite.

a) -sensitive
b) -patient

c) -possible
d) --competent

1) @,0b) o )

(b}, (c)
G @6 @ (.0
33. Fill inthe biank with the right phrasal verb.
- Canyou the word in the dictionary.
(1) setup © (2) Tlookup
(3) look after (4) look at
34. India’s highest gallantry award is |
(1) Param Vir Chakra (2) ShouryaChakra
(3) Mahavir Chakra " (4) VeertaChakra
35. Pick out the word with ‘sh’ sound ih the middle.
(1) Sheep | © (2) Shore.
Polish

(3) Fashion ‘ 4)

V2478 o
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36. Pick out the word that best suits the phrase business

" (1) ‘companion ‘ (2) partner
(3) accomplice (4) helper
37. Meaning oftheWordp_osthumously'. | 6
(1) verybrave | | : (2) after death
 (3) envisioned o . (4) visualized - T

| 38. - Gopal’s wife asked him, “Why is your face'half-shaven™?
Choose the correct reported Speeéh. |
(1) Gopal’s wife asked him why his face was half-shaven.
(2) 'Gopal’s wife asked him why his face 1s half-shaven.
(3) Gopal’s wife asked him why was his face héllf-'sha.\ren.

4) Gopal’s wife asked him why he shaved his face.

39. Choose the meaning of the- words undetlined.
His voice is beginning to break. :
(1) Changingashe growsup (2) Couldnot speak
(3 De;y break - . (4) Sadand Worried

_ 40, If you take my tip, you will succeed.
(Choose the meaning of the underlined) -
(1) the ends of one’s fingers
(2) theendofthebat
(3) aboutto say something
(4) ifyoutake this advice

V24-78 - 10-A 8t Class
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41. Which of the following shows the maximum rise in temperature?

(1) 23°C to 32°C . () -10°Cto1°C

(3) -18°Cto-11°C (4) -5°Ct05°C

BB TIS* DB SASS® K0 DHHGOH HrIKR0B?

(1) 23°C %008 32°C R . (2) -10°C %08 1°C

(3) —18°C08-11°C ' (4) —5°C %08 5°C

42. faxb=axb+(axa+bxb)then(=3)+(5)=?

" asb=axb+(axa+bxb)yecns (-3)*(5)=7
(1) 49 | (2) 54 _
3) 39 ' (4) 50

: : 4
43. A square and an equilateral triangle have a common side. If side of the triangle is 3 om

Iong, find the perimeter of figure formed.

(1) 8em | | | ‘ Equilateral
(2) ‘5cm | nangle
3) 4om

A 24 - ‘ Square_

(4) 5 om

28 BHBHo HoBosH wf Howrdo B2Hz0 ¥ BB ) O GIw. @3bao

g5e20 %"‘:oo.ﬁb. ©00S S5c0dS HWo HENFed Jod?

(1) 8o.n. \ ' doerdo

2) 50.5. | Babzo
“(3) - 4o,
o S&odio
24
(4) ?"Jco.b:. ,

V24-78 | ‘ 11-A | 8t Class
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- 44, When a*dig:-is thrown, the probability of getting a number less‘than 7is_ _
. o8 FOESH FRoASHYE, T 0B 89,5 Hopg Dk HogrSgE Jos?

oo

W ~3|

® e

45, x+__ =15,when Z=-5
Fill the blank.
x o L :
..2..=7—5 WoNSYHE x + =15
gD reos. |
M =0 _ ) 15
(3) 30 s 4) 25

 46. In the given figure, value of yis
QS DS, y dend

(1) -30°

2) 20°

(3) 40°

(4) 60°

N

v

| 47. Inthe given figure ZA+ B+ ZC+ LD+ ZE+ LF=?
QNS Sod0S* LA+ LB+ LC+ LD+ LE+ LF=? | F

AL
(1) 270° | | o >< >< .
) 180° . . | - | Y N '

(3). 320° : | B

4) 3600
D .

V24-78 | 2-A - | ' 8t Class =
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48. 225% is equal to
225% % $5rSZ0E86 .
(1) 2:5 - (2) 75
(3) 94 . 4) 8:9

¥

. 49. What sum of money lent out at 16% per annum on sunple interest, so that it Would produce
¥ 9,600 as interest in 2 years?

DoSEHTDE 16% arn5EE Jod iy @By BY) ol 2 dodgores® 9,600 34
©d? _

(1) 25,000 - (2) 30,000

(3).¥35000 C(4) 28,000

50.  Which of the following rational number is hegative?
ol TIS* 2 wEdda oy 200697807

a —(ﬁ) | @ 2
o -5 . @ I
3) —(-8) - )‘ -
51. Inreference to a circle the value of 7t is equal to
: Area , : " Area
(1) ‘Circumference @) Diameter
3 Circumference S 4 Circumference
3) Diameter _ ) - Radius
Do Hdormr n BI§ d8>rS0? |
STOHO < STVL0
(1) sion Q) —
NEH0G MRS
88008 | 58508
®) i W T

V24-78) | 134 8™ Class
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- 52. Find arational number which is exactly halfway betweenl—:;" and

1

‘Que_sﬁoh Paper A
- Booklet Code

3

1 -
— on the number line.

dogrgdeD -;—1 HoB050 ?eagcseéi@ Sopgos HOm Ssgs) Sopg D6?
mo - @) «
3 2 B 5 2
53, 1m?= __ci?.
1 2= 200.20.2 ) _
(1) 1000 _ (2 10000
(3) 100 3 . (4) 100000

54. ABCD is square with 5 cm side. PQRS is a inner square with side 3 cm find area of shaded

‘region.
(1) 16 cm?
(2) 9cm?
(3) 64 cm?
(4) 8cm?

- A

3
€

3

"B

I

y.
/-y

Z

D

/111117

C

ABCD #6080 om0 69 5 0.5, PQRS dspo o0 #5)3. oD heo 6D

3 200.0. ad DoDadS @rodo ;_érogo gofrdodoo. |

(1) 16 »0.20.2

A e 5’&0,:17. —_ B

// //////é§/
(2) 9 0.2 .
" (3) 6402 - %‘_3%0.:&_)%
(4) 8®o.do? ] ////////7? )
14-A 8t Class
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3 9 _
55. If 2= [—j +(—] ,find the value of | £ | .
q 2, \4 . q
2 ;N0 2
3 9
2_ [—) —1’[—) 290008 £ AN 20s?
g \2) \4) = \4
9 Y 71
M 7 | @ -
81 :
B T | | 4 1
56. . The cost of abook got increased by 12%. If the current cost is ¥ 336 what was its original
cost? .
28 P8BS0 Do), PES 12% Doswdod. BRdo Hgo pbH T 336 wand T wHe
P Do? ‘ | | -
(1) T287 - (2) T350
(3) 316 . (4) %300
57. From the figure value of ‘y”’ is

Bod BeaSwn 5008 Y Dend Jod?

A
’,D y 500
o C - B
(1) 80° - 2) 100°
(3) 130° @) 50°

V24-78 - s - 8" Class
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Which of the following figure has a rotat1onal symmetry of order 4?

58,
(1 Square | o (2) Rectangle
(3) Tnangle | _ | ' (4) Circle
@:o& ;5'&)6‘ 2 DB ﬁaoéb @oz,’nso i%“uqaﬁ aaa"weao 4 f:tvoéoao&‘?
(1) :ﬁéod@o o . @ 665&‘506@0
(3) @m0 @ 3@

59, " Whatis the measurelof"the"complement angle of 11°7

1% Serd o8 Seo 087 )
1) 89° ) @
3) 169 R @) 69°

60. Which of the follovﬁng statement is false?

Bod FS* D a"’ég;'m'@zéégo;?
(1) —-4>-5 - @) -4<5
() 4>-5 " (4) 4<-5

V24-78 | 16-A

8t Class
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61. Rusting : Chemical change : : . : Physical change
(1) Burning of paper . (2) Digestion of food
(3) Melting of ice cube (4) Ripening of fruits
Soiby, Hlaghy 1 GPAHIE Bty BERY-- TRty
(1) S"ﬁe‘ﬁoséa ;’)aoéoﬁaéa (2) w&fdo IR LY
(3) Sooth Soog) sy . - (4) Hoddy HEgo Doty
62. Which single cell orgamsm reproduce through budding?
(1) Algae . (2) Bryophylium
(3) Yeast . ) ‘ (4) Fern plant
Fodgsso Tyor HEgHS adoag)g‘ﬁ INLLE éz) 287?
(1) Isero. _ : (2) Seaare
(3) &9 4) 2§ E’mgzr
63. Which of the _following statement is true? .

(1) No medium is required for convection of heat.

(2) Nomedium is required for radiation ofheat.

- (3) Woolen clothes are good conductors of heat.

(4) Light-coloured clothes absorb more heat than dark-coloured clothes. .
@oa. TOS* HSgS TEGo 2B? | o |

(1) #psisoss asrsso e300 8. |

(-2) &HI8EROK SSrSEo eBdde B,

3) & e S GHTTT.

(4) Swcods Soks Godge ) B8 Soita higen IS LY (T,

' V24-78 i 17 _A
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' 64. Which chambef of heart will have more Oxygen-.rich blood? |

(1) RightAtrium- " (2) LeftAtrium

(3) RightVentricle =~ . (4) Left Ventricle
$H0BS'Q & Kos® SRy @@gomé@ 880 rotnod?

(1) & 58 - @) 26 08

(3) $& =56¥ _ 4 8% medE

' 65. Which type of electric bulbs contain toxic meréury vapour?
| - A)  Fluorescent tube light '
B) Compact fluorescent lamp
C) Neonbulb
D) Light Emitting Diode (LED) .
(1) AandB ) A,CandD
(3) A,BandD (4) A,BandC
2 DS wePOS® IR HrErSo Ko ©HE FPEEHNH) B EOA Golron?
A)  PEDOE LrySBE |
B) 50§ 608 Q)
C) oS 20y |
D) 08 6@ 468 (LED)
(1) A%8c50B - (2) A,C%8swD
(3) A,B%das»D (4) A,B508osnC -

66. Which Animal cannot digesf the cellulose of plants?

(1). Horse (2) Human being
(3) - Rabbit (4) Deer

BN oS"D DSBS dgo FWEB 2oy DB?

(1) #o | (@) SS9
() Sodws | 4) @of

V24-78 18-A 8 Class .
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67. Lens are not present in
(1) Telescope ' o (2) Microscope
(3) Periscope (4) Carheadlights
gbsren BB o ‘ -
(1) Bo™S () SR
(3) 26295 ' @) s BB
68. Match the following :
A ‘ o ' B
i) RedBlood cells‘ | a)  helps in blood clotting
iil) White Blooa cells : b) transport molecules to cells
'iii) Platelets ) | c)  transport oxygen to cells
iv) Plasma . ‘ d) fight against germs
Bod TEY 2EHEH0d ¢ |
A - B
) A O e B)  Ofo KESibe® S aHBER
i) Bg ¥ Seren b))  Swref Srosol 6o Bosos
i) o Sodfe | 0)  Srok efuSs S50 B0
iv) vy Q) Seggsswed dodson
(1) i-c, ii-d, iii-a, iv-b (2) i-b, ii-c, iii-d, iv-a
(3) i, ii-lb, iii-a, iv-d : (4)  i-a, ii-c, iii-d, iv-b
69. The given symbol represents, wh_ich electric component?

(1) Electric bulb - (2) Battery

(3) Electric cell (4) Wire _ _

QI BS éoﬁéé Q DSy wH¥Swod HrRH00. ———7I|--———~.{|———
(1) Dogs 2oy (2) wrglb ' '
(3). Dby o0 | : (4) &4

V24-78 | 19-A | 8t Class
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70. Arrange the main steps of Human nutrition in a proper order.

B

b)
c)

.
o) .
S50 2ReS™D BEE Sfok $35 ER00° ©kd0s.

.
b

c)
d)

€) .

0y
3)

(b), (), (¢, (©), (d)

C o r~
Digestion

Ingestion

- Assimilation -

Egestion

Absorption o <

Ay §a%

-r.@oéd'@%feao

cohsSe0

ES

Fsie0 : |

@ @©.@.0,6,0

(€), (b, (), (), (d) @) (®), () (d), @), (¢)

7L,

Find the incorrect stateiment.

(1)

- (2)

Q)

O

Plane mirror forms an erect image and of the samie size as the object.

A plane mirror forms a real image on the screen.
Concave mirror forms the real image on the screen.

Convex lens can form real and invertéd image.

230G RS BB gy Kgotod.

(1)

- @)
®

4)

85260 8y DAY B8Bouo derdor 550050 :.sm@e:sﬁ 558 5680 0B,

dode $&ymo ac{)azﬂ DzRHéonods B8 dYkvo.
Ersed Sdyeo BED ESTRETALEN R B\ EB08.
Booz5°8 Ko ez $oBCS® éo@ocso@é Lfae?éoeaoéa K208,

| V24-.7s
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72.  Fillup the blanks (a) and (b).
" Plants donot grow wellintoo ___ (a)_ soil.
Thus, that soil to be neutralized with ;___(b)___
(1) (a) - acidic, (b) - compost
(2) (a)- basic, (b) - slaked lime
(3) ('a) - acidic, (b) - calcium oxide
(4) (a) - basic, (b) - compost
(a) 58853 (b) o ag:é Hres’ Jrootod.
To Ter___(2)__ &%) Jost oS, §508 6 o __(b)___ & s6jse.
(1) () - wsgcsosorr, (b) - S0
(2) '(.a) - groasndorr, (b) - 63 Bod)o
(3) (a)- sScswdor, (b) - "Yoho &F&
@) (2)- gEassom, (b) - £

73. Example for the insectivorous plant. .

(1) Cuscuta |
(2) Mushroom
.(3) Nepenthes
(4) _Licheh
fLsedts Do) B STIE
(1) womd> &K ($a9,e)

@ aymes
(3) DS g (F0sR)
(4) &3

- \V24-78 ‘ . 21-A o 8t Class
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74. Match the following.
‘ A . B _‘
i) Ant’s striﬁg _ . a) Tartaric acid -
il) = Vinegar ' b) Formic acid
iif) . Tamarind- . . - - c) Aceticacid
8ob B nEHES0b. A
A B
1) D% s’\igcéo ' o - a) &gl edo
i) 3966 b)) pofesp
1ii) DodgSodkd " c)  DBE w0
(1) i-a, ii-b, iii-c . (2) i-b, ii-a, jii-c
(3) i-c, ii-b, iii-a () b, ii-c, iii-a
75. What are the “green lungs of nature”? o o

(1) Decomposers : (2) Rivers
(3) Forests ' o ~ (4) Deserts
“DE)8 Rl BHHWD WwhosRe” Bd IBI votrt?
(1) Dm8soeo - @) e
(3) w@EHe _ (4) dwdoen

76.

Idéntiﬁed the incorrect statement.

(1") Dried sludge is used as manure.

(2) Chlorine is used to disinfect water.

(3) Airis pumped to kill acrobic bacteria in clarified water.
(4) A skimmer removes oil and grease from sewage. | |

585 757§ odowod

(1) Q088 S0&ithds dLHm Tdoads. B |
(2) DB EMEHdo BaHEds §oS% . |
(3) Taso BIrE wrhbcre SoBERE MO HY DS HBSE BoYe .
(4) YSbos’ 503, e S0l dErgody Sodoh éoo&.é‘e;ﬁ@do.

-~

V24-78 - 22-A 8th Class



77.

The basic unit of speed is
(1) km/minute

(3) m/minute

S8 D), PrENE HITrwo
(1) 8./ dHo

(B) ./ dko

(4)

(2)
-4

2)

Question Paper
Booklet Code

km / second

m /sec

8.a0. / 2808
Do,/ s

78.

(1)

“)

“Clink” will be there in

Digital thermometer

(2)
3)

Mercury thermometer ‘
Maximum and minimum thermometer
Forechead (Temporal) thermometer

‘T o38 &5 <rotnod.

(1) BzbS $omydotss

(2) >a8d gohots

(3) Hoh 8y oS

(4) H068 wod (BodvS) gomydotrs

79.

The .ind’icator extracted from Lichens give
(1) Blue
(3) Green

(2)
(4

TS0 H00d oD JrdE yddzwod’

@)
0)

(1) doo
(3) esos

__ colour in distilled water.
Red | |
Purple

S0tk 83308,
6>
88 o (H6nS)

0.

-(3) Premolars

Tyﬁe of teeth used in cutting and biting of food.
(1) Incisors | @
(4)
wEos §880F HHdosw §O8 Soaren
(1) Soossen

(3) o SoEses

(2)
Q)

Canines
Molars

EeEen

;Sdssas*’e:o'
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81. A State fﬁat. does" not sﬁére a bordel: Wifﬁ Nepal.
(1) Uttar Pradesh | _‘ _ '_ (2) Uﬁmakﬁand .
(3) HimachalPradesh ~ . (4) Bihar
3>ES B0 BodosD THo -
() edssdy 0 2) wdowpos
@) wiessEds . (4) b

82. Mughal rule in India began with the victory of this war:

© (1) " Chanderi war | . (2) FirstTarain war
3) Second Tarain war | _ (4) First Panipat war

PE8BF0S” Ao SBFOS & cogod® Jzuaho FHowdo BT (FEoeok.
(1) Sod6 osogo () 3068 835 asogo
(3) Bods &3S cngo T (4) 068 358 oo

83. Astronomer who first proposed the ‘Big bang theory’.
(1) Ptolemy . ) Georges Lém_aitre
(3) Nicolaus Copernicus = (4) Immanuel Kant
o8 DB BHrpodSndo s BFAFBONS PFY T334
) wem | () =g Db

(3) oD FHHED L (4) asrdgeHs 5ol
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84. International women’s day is celebrated on the eighth of this month
(1) January | " (2) December
(3) March ‘ . (4) May |
& IS NG 88S @oéo;eﬁodo a’)oﬁa*w.&ss‘é“)éo adoo“g)@oér;ﬁw
(1) =358 L (2) &donb |

3) svy | o ow i

85. Whowrotea comméntary onthe Bré.hma, sutras popularly known as “Sri Bhalsya"’?
| (1) 'Mmuj acharya |
(2) Adi Sankaracharya
(3) Ramananda
(4) Basaveshwara |
"8 %Pﬁgo” o3 HHE @ﬁ*@)ﬁ@o:& g AORET 0.
(1) odrlwrardg
Q) ©b fo¥oasy
(3) osrSodad

(4) =234k

86. What is India’s position in the World by forést area?

| BHow wbd dYgos® rESBH S50 Dod?
o @ 10
@ 7 @ s
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87. Which ofthe following is an incorrect pair?
(1) Palkuriki Somanatha - Basava Puranam
(2) Nanne Choda - Kumara Sambhavam |

" (3) Jayapa Senani - Geetha Ratnavali

(4) Vidyanatha - Kreedabhiramam
& 1808 TAS* P05 2 _
(1), Sexd8 FHT Bk - BBSHTHO
(2) ESBJ&S‘déxéb - §3.‘;301’§:602.‘5260 | '
(3) @D DD - A8 SESe
(4) gt - SEPorsosn.

© 88, A kerb drill is related to this
(1) Training in playing Kabaddi
(2) TraininginplayingKho-Kho =
(3) Road crossing training
-(4) Swimming traihing
3G) BS B8 Jow06oNSH
(1) $0d widobes® FEw
(2) $*-5° ot g
(3) &y oo BEm
(4) &dos® 3w

89. Sultana Razia, who is reputed to be the only womian to rule Delhi, belonged to this clan

(1) Mamluk 2) Khilji

(3) Tughlag c -(4) Lodi ‘

BOD HEFO0DS DBE HIEM HHF0ES Meni S2okr & S0TE DodISTE.
(1) soso8 | @

(3) &4 . 4) &4
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90. - market not specified by Geography.
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(1) Regional market (2) Weekly market
(3) Local market (4) National market
FEYE Sedrdo egrdor &) $0ED $070) 5
(1) @robobh S0 @) Fwosy sroyS
(3) ¥0% w7Es @) wbob TS
91. . The greatest ruler of Sangam dynasty was
| (1) Harihara Raya-I | (2) BukkaRaya-I
(3) HariharaRaya-1l @

Sofise TaSofods® {Hy Fetdd
(1) 3088 5056 oohes )
(3) Bodks LBHE raen | )

DevaRaya- Il

BN 0y o‘oﬁoéo
BodS B orofen

92. The year in which the right of children to free and compulsory Education Act was passed

by the Parliament of India was

O &ﬂé SoBosn Ao &’)65“5 mé:z, ﬁéa*&)al @dé 3“63305 W3rHoNS (ooa’ae:é“)do‘?

(1) 1949 \ (2)
(3). 1950 : 4)

2009
2010

93. The ChiefMinister is appomted by the

(1) Governor - : (2)
(3) President _ (4)
:ﬁwéaga’)oo@ 28BS JcHMoBwES .

(1) 8588 | (2)
(3) BFs50@ - @)

Prime Minister
Chief Justice of High Court

V2478 _—
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A

‘The theory that the planets formed from a cloud of dust and gas associated with the Sun is

94.
(D Geocentric theory (2) Heliocentric 'théory
(3) TheNebularHypothems theory 4) Blgbangtheory
555%e0 ordag&)é‘ ooaaoqio &8) $r® ;50606::0 a‘oﬁaoo“g)oé‘ i3S 33.;.:00 a’no& Jdbcs"ofna’)
.6&) R)CS“oééo , :
(1) grdoss coca"oééco (2) Sr8BosE drodsn
- (3) %o a&gco)é oa;péaﬁ); (4) S0t :.)é%béa:é ﬁbcgo.e‘éa’m
95. 'Fll'St Indlan woman to enter space a . ‘
( 1) SallajaKlran ‘ (2) KalpanaChawla
3) . SumthaWﬂham (4) Vandana
@oéﬁéoe‘)“§ &K 23S &9 ep‘déoﬁo ¥
(1). o= 885 (2) oy o
(@) ®be 20ewo 4) Soss
96. "Baﬁdagar;.’ belongstolfhis sy'steml' ,
(1) Military system . (2) Financesystém
(3) Political system ) (4) Slave system o
BoSTS ©BB & B5Yss BohsH B ‘
(1) g 3558 (2) wge 5553
(3) oabon 5353 (4) wds Bg5g
97. - Those who make maps are called by this name o
(1) Cartographer (2) 'Photdgrapher
(>3) Pictographer (4) Stenographer
Hérren SoSFSHTT a‘&&) & DS Deodrd. | |
(1) sgrss (2) eHrHE
(3) DS - (4) pSTHs
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98. ‘AshtaPradanas’ are a part of whose administration? .

(1) SriKrishnadevaraya (2) Akbar

(3) Shivaji. ' | 4) Alla-ud-din Khilji
‘Y B’ B SBTFuIS® erio

(1) § g5dsoasmmen @ e

(3) - 8ark () edsS 99

99. Who among the following served as the President of the Constituent Assembly?

(1) Dr.BR.Ambedkar - (2) Dr.BabuRajendra Prasad
(3) Dr. Nalini Sen Gupta - ' (4) Dr.PadmajaNaidu -
orergol Be egdm SOBDETE> ' S

(1) &I 8.5, woBy s . | (2) @ amaa orHolls BFS
(3) @ SIS o ' @) @ B Tos0d

100. Dry climate in Summer and moderate to high rainfall in Winter is the main feature of
(1) Mediterranean climate region . '
(2) TheSavannaregion
(3) The steppe.region
(4) Tropical climate region |
F0S° PATEBCSW, §ET 00 2. 5160 $108 ©WOE STFEo 0YE BES OB
(1) Soggdos 28°YRS Trodhn ' ‘
(2) d3) @rodsm
(3) Ry Erodsn .
. (4_) wRdode 3HRE @roddn
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